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(z1) Use of simple calculator is permitted.
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1. If the Demand and Cost functions of a monopolist are p = 100 — 29 and
¢ = 50 + 2q respectively. Find the equilibrium price and output level. 15

SR Ueh! HHRQRET RO ST @9 %l ST0hH p = 100 — 2¢ 3T ¢ = 50 + 2¢
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Or
(feram)
Solve the following LPP by using graphical method :

Maximize : Z = 45x + 80y
Subject to : 5x + 20y < 400
10x + 15y < 450 and
x,y >0
P.T.O.
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2. If U = x2y is a utility function, obtain the equilibrium price and quantity
if x + 2y = 4. 15
SR U = x2y T T WA ®aA A ST x + 2y = 4 3¥A R IHAA {hHq
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Or
(fenam)
Find the elasticity of demand when the demand function is ¢ = 20/p + 1 and
price is p = 3.
SR AR Be g = 20/p + 1 ST fREA p = 3 FHA W HEUE dASraehdl S
3. Attempt each one from Section A and Section B each. 10
faum A sufor fauam B ol Yol Ueh U9A Hiedl
Section-A
(fawm ‘31)
(@) Write a note on production function.
3 hellerk Wk feud ferar
(1) Prove the Euler’s theorem from X = AL®KPy.
X = ALKPy g&q Ataera v8a 95 &4
Section ‘B’
(faamT ‘=)

@) Explain the concept of optimum combination of factors.

FehT STIRCITH AN Heheddl ¥ .

(1) Mathematically explain the relationship between Marginal Cost and
Average Cost functions.
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